mt FiE HxWx=F) A ENRIE Fii BRAE
— B
D-1 450 580 250 & e 3] ftR—Rx
D-2 420 550 430 * £ 3] ALY = po il Tk
D-3 450 480 330 x Y
D-1
D-5R 520 550 280 ® E 3] HERAs Y D-9 .
h ENRI - &
K : EEEaY
D-5 (M) 450 550 280 mits S ERAY BX i+ 100K/ % — %
LIS PN
D-6R 500 600 330 ® £ 3] HEIRAE )
D-6 (M) 450 600 330 =it £ HEREL Y
D-7R 520 620 280 ® B3] HERRAS ) D-2 tﬁmﬁg
D-3 -

) 100# —_— K : 8EiRELY
D-7 (M) 450 620 20| e it ] ERAY S il : 1008/ — X
D-8R 500 700 330 ® E 3] AL
D-8 (M) 420 700 330 3] B3] Y

D-5R b ]
D-9 420 660 450 ® B3] D-6R ENRI : &
[ HEmAL Y
D-7R X
f 370 380 370 & B3] D-8R BR—IVEIR
% - 1008/ — R
X 370 420 410 *® S ]
HEIREE Y
LEYN 360 440 430 #& S D-5 (M
(D R ]
D-6 (M) EDRI : M
PN 420 490 480 ity E D-7 (M) -
D-8 (V) E ERLY
1% - 1008/ —2R
L35 N 420 520 510 B B3] BlX




